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I '® mwn (will be represented on the next page, as today’s shiur deals with issues emerging from the opening 4
words of the mwn: that there were 2 m'm 7 in YWIY)
a  clarification: there were many 11, and perhaps 3 m7’1 »»7 who were involved in formulating m 1 dealing
with 11 (hence the n» /071 confusion) — but not everyone considered »1nn 01N as important as 130 and
PRTR.
b Payment: they were paid from nawon nman (opwn nrxnn)
i Story about #1777 he took a coin in payment from each litigant
1 Challenge: violation of Tnw (v. 1)
(a) Tangential discussion: nature of scope of Tnw, including n»a7 TNV (anecdotes) (vv. 1-3)
(i) Tangent within tangent: story of bringing gifts to n"n (vv. 4-5)
(if) Tangent within tangent: story of 1y "1 and YR 170
¢ Payment for various wpn-related jobs:
i From now%n nmn:
PPN »Mpan (people who would check for blemishes on animals)
Scholars who taught n¥np/nvnw to ond
Scribes who would check nmav
Women who wove curtains for gates of nry
Families who were in charge of o290 on% and nmop
Women who raised their sons for nnTr N1
(a) 9mw rar: supported by rich women in w1y
7 mwov (v.6)
(a) challenge: v.7
(b) answer: if they collected and there was a surplus — from nan 713, else from 5"mIn
(c) note: 172 makes the collection conditional — surplus used for n1w ">
(d) Proof: qua W (v. 6) >money that has 07w (5”mn)
(i) Query: if so, should come from n» 1w
(if) Answer: qoan implies the “first”, not the remainder (as in n%1wn)
(e) Challenge: mw »53 are funded by surplus of n’>v)
(f) Answer: this is a dispute among D'RIn (1:7 DHOPY)
(i) Tangent: neither of those Rin concurred regarding the sale of m1a for namb y’p, as per ™
(if) ruling: we don’t do business with wTpn or npTX
(iii) reason:
1. w7pm poverty doesn’t belong with wealth
2. ap7y if an "y is in need, we may have nothing available to give him (all invested)
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